1 (Pre aration
rx N u m be r ° Cut;tlthe nt%mbe(; trail
cards along the re

MATH{ dotted line. You should
M r have 20 trail cards. ~_ -

Hide these randomly

around the house.
Z;qf InSt ru Ctlons e Give each child
% a number trail

(
answer sheet. \2

How to play

e Choose any number trail card to start.

e Find the number trail card
with the answer 32 in the circle.
card has a question on it. ’\\ e This card has a new

question which will lead
° '\N‘ork ou’g the answer and record to another answer.
it in the first box of the number
trail answer sheet. \/ e The game is finished when

all 20 boxes are complete

e The bottom half of the

The example on the trail answer sheet. e
question -
here is 8 x 4, @Q@.DD
and the b -
answer (32) D) ’535 Number -
is recorded O M’Wf Tr )
on the answer ) {6031 Answer Sheet ()
sheet. )
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Write two
What hundred g
is 100 less and fifty § 8 x4 40 + 5
than 2607 sevenasa |

number
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What How long is
number § 8 X6 - 1% hours in
is XVI? ~ minutes?

16, 24, 32,
40, 48,



What is
half of 72?
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| have £8.90.
How much
money do | 3x9
| need to '
make £10?

5cm

What is the
perimeter of

the rectangle?

9cm
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What is the
missing - What is 286

number? ~ rounded to 9cm + 5cm n::v:‘g';r
27, 24, 21, ~ the nearest + 12cm is XII?

_,15 ~ hundred?
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How long is
2% hours in
minutes?

25 + 25 + 25
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| have £37.40. The time is

How much .~ 08:45. How
money do .
 many minutes
| need to :

make £407? until 09:307?



